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In the table below, indicate whether each of the subsequent 25 assertions are true or false. For a correct answer you get 0.3 while for a wrong one you lose 0.3
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1.According to the Ricardian model, one country should never import goods produced in other country with more hours of work than those that would be necessary to produce those goods domestically.

2. In the Ricardian model, if the production of one unit of wine implies the sacrifice of one unit of olive oil in country A compared with 2 units of olive oil in country B, specialization of A in wine and of B olive oil will lead to global gains.
3. Consider a model in which (homogenous) labour is the single factor of production. Without labour mobility and without competition between the producers in the final market of each good, the relative price of the goods would be equal to its relative cost.

4. In a model with two countries, two goods and constant relative costs, the international relative price depends on the world demand curve directed to both goods.
5. In a model with two countries, many goods, constant relative costs and labour as the single factor of production, specialization is not determined by the relation between the relative wage and the relative productivities in the various goods.

6.  Consider a model with two countries, many goods, constant relative costs and labour as the single factor of production. In this model, under flexible rates changes in the exchange rate generate changes in the relative wage and thereby determine the goods in which each country specializes.
7. Consider a model with two countries, two goods and in which labour moves costlessly between the two sectors of production. In this setting, trade has an uncertain effect in the short run on the real income of the capitalists both of the export sector and of the import-competing sector.

8. In the HO model, the influx of numerous immigrants to a small open economy increases the production of the capital intensive good but by less than the production of the labour intensive good.
9. In the HO model, the price of capital is the price of acquisition of one unit of capital.

10. Once specialization has started, the existence of external economies of scale may strengthen that process.

11.Most of the trade between developed countries is of the inter-industry type.
12. In a model with two countries, many goods and a single factor of production, the existence of transport costs may lead one country to import a good which, without those costs, it would export.

13.  In Krugman’s model the reduction in the number of firms ends up bringing gains to consumers.

14. The majority of exports of most developing countries to developed countries consist of agricultural products.

15.  The tariffs on trade of agricultural and industrial goods between countries that belong to the WTO are nowadays very low.

16. In Krugman´s model, trade makes consumers more price sensitive.

17.A subsidy granted per each unit produced  by firms in an import-competing industry leads to ‘consumption inefficiency’.
18. The Common Agricultural Policy of the European Union has led to a decline in the prices of several agricultural products in the world markets.

19. A subsidy per each unit produced granted to firms in an import-competing industry gives them a level of protection equal to a tariff on each imported unit of the same size.

20. In a static analysis, an export subsidy has always a negative effect on welfare in the case both of a small and a large country.

21. The Common Agricultural Policy of the European Union set prices above those that would be established in an internal European market fully protected from imports from third countries.
22. Given a certain percent tariff on the imports of a final good, the greater the proportion of the domestic value added relative to the imported input, the higher will be the Effective Rate of Protection (ERP) received by the domestic industry that produces that good.
23. A tariff on imports of the good produced by a foreign firm facing a downward-sloping demand curve in the Portuguese market tends to be fully reflected in the price of the good paid Portuguese consumers.

24. In the case of some goods, the integration of a country in a Customs Union may lead to lower consumer prices but to higher prices paid by the country as a whole.

25. Because of the greater number of countries, conflicts over tariffs are more difficult to solve under the WTO than they used to be in the GATT’s period.
1.In the context of the Ricardian model, consider the following matrix:

	
	Wage
	Good 1
	Good 2
	Good 3
	Good 4
	Good 5
	Good 6

	Country A
	5 Euros/h
	2h
	3h
	5h
	10h
	7h
	3h

	Coutry B
	7 Dolars/h
	4h
	2h
	6h
	2h
	2h
	3h


a) In which good will each country specialize if 1 euro = 1,3 dollars? Explain.

b) If the exchange rate changes to 1 euro = 1,2 dollars will the pattern of specialization change? Explain.

c) Suppose again that 1 euro = 1,3 dollars. If the transport cost is equal to 1h per exported unit, will the pattern of specialization change relative to a)? Explain.

2. Why do companies sometimes sell their goods at lower prices in foreign countries than in their domestic market?
3. a) In the context of the HO model, suppose that, compared with country B, country A is physically abundant in capital but economically abundant in labour. Which country will specialize in the labour intensive good? Explain.
b)  Consider a model with two countries, two goods and two factors of production (land and labour). In the context of that model, suppose that one of the countries – country A – specializes in the land-intensive good. What is the effect of that fact on:


i) The nominal value of the rent in country B? Explain.


ii) The price of the land-intensive good in country B? Explain.


iii) The purchasing power of the landowners of country B in terms of the land-intensive good? Explain.

4. a) A tariff on imports of a certain good leads to ‘consumption inefficiency”. What is the economic meaning of this expression? (Note that we are not asking for its geometric representation).

b) “A tariff on imports of a certain good leads to an arbitrary transfer of income from certain agents of the private sector to other agents of the private sector.” Do you agree? Explain.

5. What is the effect of a tariff imposed by a large country on the imports of a certain good on its price in the domestic market and in the international market? Explain the economic mechanisms that lead up to your conclusions. (Note that we are not asking for a geometric analysis).
